PRACTICE PAPER

Time allowed: 45 minutes

Maximum Marks: 200

General Instructions: As given in Practice Paper — 1.
Section-A

Choose the correct option:

1. If the matrix A is both symmetric and skew symmetric, then

(1) A is diagonal matrix.  (b) A is zero matrix. (c) A is square matrix.

2. Let A be a square matrix of order 3 x 3, then | kA | is equal to
(a) k| A| () KA (© KA

1 =3
3. Ifﬂ'[_4 1}1]12nadj(3.-f+12-!]isequa]m

71 =54 531 a3 51 B4

@ .63 51 ®) lm 72 (©) L’ﬂ 72

4, Ifxecosy+ ycosx =7 then y" (0) is
(a) = (b) == () O

5. The slope of the tangent of the locus y = cos™ (cos x) at x == % is

{a)1 (b) 0 c) 2
6. Read the following statemenls,

1+~

1
Statementl : Integration of ILiI is tﬂﬂ'l?—%.
0

Statement IT : J?_ﬂx]n:ir = f_ﬂairb + x)dy

Choose the correct oplion:

(1) Statement 1 is correct but statement 11 is not correct.
(b) Statement 11 is correct but statement [ is not correct.
() Both statements [ and II are correct.

{d) Mone of these.

7. The value of _I‘tanf,t-ultanl__r-l- o)tan (2x)dy is

v'sec 2x sec (x + )

(a) log

sec(x =)

f'rsn: 2% seC(x =)

Vsec 2x

{d) Mone of these

(d) 3k| A]

72 -63
@ l-m 51]

(d) 1

(d) -1

+C (b J.ng|l.an‘l{s-ecx+msx]|+f_“

() log +C () log

seC (X + a)

SoC (X =) sec(x +a)



10,

11.

12.

13,

14.

15.

16.

17.

If J- .I'cnsr—ms!x

/ ; iy = flx) then fix) equals
YV 1-cos’x

(@) %sin"{msw-xpc (4] -%ms"{msm:}-rc
(c) -%sjn" (cos®?x) +C (d) %sin"{mmx}-rc
moalr=1 -1
mx - nx"
dx, |
T equals
i T -1 x"
+C b +C ) —+C -
@ Ll | ©) Ll | @ e | @ LaRbE S |
Area bounded by the curve y = ¥, the x-axis and the abscissae x = -2 and ¥ = 1 is (in square units)
=15 15 17
(a) -9 (B =~ @ 5 d -
The differential equation of family of curves y* = 4a (x+a) is
dy( dy dy dy (dyy dy (dyy
F_ g = = . — — | = —_— —_— ] ==
{ﬂ}y-4dx(x+it) (14 lyd: 4a {l}y.;fg’+(dr) 0 (d) lriir+y(dx} y=0
dy x=
If E' xFy then its solution is
@)y + 2xy=x*=C ) V¥+2y+x*=C (0) V¥=2xy=x"=C (d) ¥ =2xy+ ¥ =C

Feasible region shaded for a LPP is shown in figure. Maximum of Z = 2x + 3y oceurs at the point

() (0, 0) (b) (4,0) (c) (0,4) (d) none of these

The probability that a man can hit a target is %‘ He tries 5 times. The probability that he will hit the target
at most one ime is

1y 3p 1 ¢3¢
@ (3] ® () © (3)(3) (@) none of these
The probability distribution of a random variable is given below
X a 1 2 3
PO ! k k K
2 4 8
then the variance of k is
8 7 =
(i1} e (B 15 () = (d) Mone of these

Section-B (B1)
Identity relation R on a set A is
(@) Reflexive only (b) Symmetric only (¢) Transitive only (d) Equivalence

2x
Let f:(<1,1)—— B where f(x) = tan™ (ﬁ] is one-one and onto, then B equals

@3] |53 o (-3 @ (05)

A= DSmMI-—-D>=s
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The inverse of the function flx) = m+ lis

ot |

(@) logiy5—— (b) log,y5>— (© log,

Twao functions are defined as under

x+1 =1 -1y <
. and g() = ¥ -1=x=2
241, 1=x<2 x+2, 2=x=3

1/2
Zz-rx} (@ 1%{21_1,)

fly=

then (fog) (x) equals

P+l |x]=1 ¥l x|=1

W 12261, 1<x <2 &) ﬂﬂ:lzﬁn_ 1<x<y2

¥+, |x]=1

D122 41, 12122

{d) None of these

Let * be a binary operation on I such thata® b=a + b. Then (3 * 2) * 4 is equal to

(2) 5 (b) & (c) 9 (d) 10
If flx) = sin™ x, then domain of flx) is
(@ x=lorxr<=1 b =1=x=1 ) x=1 (d) Mone of these

The solution of equation tan™x = cot™ x = tan™ 1 is

'3
(1) Mo solution ‘ b x=,3
(c) Infinite many solutions {d) None of these
3cos™ x -rl:.\:—%'ﬂ has
(1) two solutions {(b) one and only one solution
() no solution {d) more than one solution.

If A=2tan" (22 =1)and B =sin™ ( }*sm ( },ﬂ'u!n

(M) A=8 by A=<B c) A>B {d) none of these
If A* = 0 (zero matrix), then I + A + A® equals
(a) (1= A)™ (b) 1-A™ fc) 1-A () A

If @, b, ¢ are in AP then the determinant

X+2 x+3 x+2a
x+3 x+4 x+2b| i
x+4d v+5 x+2¢

(@) 0 (b) 1 (c) x (d) 2x
If A is invertible matrix of order 3 x 3, then |A™| is equal to
@ & ® AT © 34 @ a7
If y= {%)n[:l + lng% y' (n) is given by
nt+1

(b) -

@ () (5

()

@ (5)
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Let flx) = |sinx|; 0 = x < 2n then
() fix) is differentiable function at infinite number of points.
(b) fix) is non-differentiable at 3 points and continuous everywhere.
() fix) is discontinuous everywhere.
(d) flx) is discontinuous at 3 points.
1

lan{% +:r)r, x#F0

k . =0
then the value of k such that fix) holds continuity at x =0 1is

Let flx) =

(a) e (b) lz () & (d) None of these
¢

Let flx) = x"| x| then the set of values, where fix) is three times differentiable, is
(1) Infinite (b 2 {c) 3 (d) None of these

Which of the following function is decreasing on (ﬂ, %)”

{a) tan 2x (b cosx {r) cos3x {d) none of these
Read the following statemenls.
d 3_3 4.1 129
StatementI 1 If d—f{x}= 4x” = — such that fi2) = 0, then fix)=x"+—F=—.
x ¥ ¥ B
e {1 +x)
StatementIl : [ ———dx = tan(xe") + C
cos (xe)

Choose the correct oplion:

() Statement 1 is correct but statement 11 is not correct.
() Statement 1 is correct but statement [ is not correct.
ir) Both statements [ and 11 are correct.

(d) Mone of these
1] re gi“m’“ﬁ'ﬁlﬂg{ﬁxm C then [ f(x) dx equals
-l
1, ,fjatanx L[atanz
fa) Sy tan b } (b) abtan { > }H{
1, afbtanx 1 .
() ab 2 ( I }"'K () _ptan (m“{T]J*K
(x™)*log_(ex) A
= ] -—— =1 X
IE'[ 1+ (x¥™)* (1 B]'ﬂ-ﬂ (x™)* + K then A + B equals
{a) 2Zm =1 (b) m=-1 (©) 2m @ ma

3

If y = fix) makes positive intercept of 2 and 0 unit on x and y axes and enclosed an area of 7 Square units

with the axes then _rxf'{x] dx is
0

(@0 ® 5 © -2 @

o | =

The general solution of % =" Y e" =) is

(@) e¥=g" =1+ C¢™ (b e*=e¥+1+(Ce¥ (€} =l Ce™ (d) Mone of these

A== D=SMI-—-D>=s



The solution of the differential equation cns( y }Lt'n'y = yulx) + x sin( y }Lt'dy +ijlx) =0 which satisfy

¥ ¥
y =7 is

(i) _l{ﬁiﬂ(%)=% () ysin{%]h% () ysin(%]=% (d) None of these
The vector having initial and terminal points as (2, 5, 0) and (-3, 7, 4), respectively is

{a) =i +12f + 4k (b) 5i+2j -4k (c) =5 +2] +4k () i+j+k

The value of & such that the vectors a = 2i + Aj+k and I =i +2j + 3k are orthogonal is

(a) 0 )1 © = W 2

The vectors Ai +j+2k,i +Aj -k and 2i - j + Ak are coplanar if
(g) h==2 by L=0 € =1 (d) h==1

=

1f E,b and ¢ are three vectors such that a+b+c=0 and |F|-2,|F|-3 and |F|- 5, then the value of
a.b+b.c+c.ais

(m) 0 (b1 {c) =19 {d) 38

. ABC is a triangle such that the coordinate of A, B, C are (2, 3, 5), (-1, 3, 2) and (A, 5, |t} respectively. If the
median through A is equally inclined to the axis then

(@) A=5=p (b) A=5p=7 (€) A=7,p=10 (d) A=0=p

A line OP through origin O is inclined at 30" and 45° to OX and OV respectively. The angle at which it is
inclined to OF is

(i) 90° (B ms'l{%] () 6i° (d) Such line does not exist
The perpendicular distance of a corner of a unit cube from a diagonal not passing through it is
1 2 2 2

x+1 _ y-3 _z+2
-3 2 1
Mrx+y+z=1 (b)) x+y+z=2 (o) x+y+z=0 {d) none of these

The equation of plane containing the line and the point (0, 7, =7) is

If PiA)= %, FiB) = % and PiA n B) -% then P{A'/B’). PIB'IA') is equal to

15 7 25

(i) 16 (b) 5 ) ) d) 1

If A and B are two events such that P(B) = %,.PHJ'B] = %a.nd PIAUE) = %,, then P(A) is equals to
3 1 1 3

] 10 (b) 5 (e 7 (d) 5

If x ([0, 8] the probability that x* - 8x +12 =0 is
1 3 1

{a) 5 ik r (r) r {d) none of these



